
【7】

(1) T u k i ( h , g ) ＝ h

(2) E v e G o k ( m ) ＝ E v e G o k ( m ) ＋ N y u j o

(3) E v e C o d ( n ) ＜ ＞ E v e C o d ( 0 )

(4) S y u k e i ( t , n ) ＞ S y u k e i ( M a x , n )

(5) E v e G o k ( n )

【7】

(1) J u n ( i ) ＝ 1

(2) C o d e ( m ) ＜ C d

(3) S y u ( m , K u p o n ) ＝ S y u ( m , K u p o n ) ＋ S u

(4) i ＝ 1 T o 6 0

(5) J u n ( t ) ＝ J u n ( t ) ＋ 1

【7】

(1) S y u ( j , T u k i ) ＝ S y u ( j , T u k i ) ＋ S u

(2) B u n ( k )

(3) H a j i m e T o O w a r i

(4) T a n k a ( m )

(5) S y u ( n ＋ 1 , p ) ＝ S y u ( n , p )

【7】

(1) S j u n i ( j , k ) ＝ 1

(2) S u r i ( H i n , K y a ) ＋ S u ＊ T a n k a ( H i n )

(3) S u r i ( G 1 , R 1 ) ＞ S u r i ( G 2 , R 2 )

(4) H m e i ( j )

(5) p ＝ 1 T o 1 0

【7】

(1) S e i ＋ j ＊ 2

(2) S y u ( T o i , k ) ＋ F u n

(3) m ＝ 1 T o 5

(4) S y u ( T c o d , r ) ＜ S y u ( T c o d , r ＋ 1 )

(5) S o e ( T c o d , s )

配点

シ カ イ ク

① ② ③ ④

オエ

エ ア

① ② ③ ④ ⑤

オオ イ ウ

(1) (2) (3) (4) (5)

ウ イ ア ウ ア

① ② ③ ④ ⑤

ク
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ウ カ

イ ア

(1) (2) (3) (4) (5)

ア ウ コ ク カ

④ ⑤

イ ア

ウ ア

⑤

ク オ エ

【4】

【1】
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④
〔用語〕 【1】

① ② ③ ④
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ウ ア エ カ イ キ イ オ ケ

(5)
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【1～3】 2点×15問 = 30点  /  【4～6】 3点×15問 = 45点  /  【7】 5点×5問 = 25点

〔用語〕 【1】
① ② ③ ④ ⑤

【2】
①

第49回（2013.9）

第50回（2014.1）

第51回（2014.9）

第52回（2015.1）

プログラミング 過去問題 解答

(5)

ア カ オ イ エ カ オ ア

③ ④ ⑤

オ ケ ウ キ サ ア

② ③ ④ ⑤
【3】

①

エ ク イ コ ウ ア イ ア ウ

(4) (5)

エ カ イ ウ ア ケ ア キ

(4) (5)
【6】

(1) (2) (3)

コ イ カ イ

(4) (5)
【5】

(1) (2) (3)

第53回（2015.9）
②
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【7】

(1) J u n ( i , j ) ＝ 1

(2) K e i ( M b a n , K b a n ) ＝ K e i ( M b a n , K b a n ) ＋ 1

(3) r ＝ p ＋ 1 T o 6

(4) K u b u n ( n )

(5) K e i ( s , t )

【7】

(1) K e i ( h , T u k i )  ＝ K e i ( h , T u k i ) ＋ H s u

(2) M a x ＝ k

(3) m ＝ 0 T o 1 2

(4) Y b a n ＝ I d x

(5) K e i ( s , t )

【7】

(1) h ＝ h ＋ 1

(2) T o k u ( 0 , K u b u n ) ＝ T o k u ( 0 , K u b u n ) ＋ 1

(3) J u n ( n , i ) ＝ J u n ( n , i ) ＋ 1

(4) p ＝ 1 T o 3 0

(5) T o k u ( r , N k b )

【7】

(1) H o z o n = H i

(2) K s y u ( T c o , R e t u ) = K s y u ( T c o , R e t u ) + K s u

(3) G k a i t e n

(4) W o r k ( m － 1 , K c o )

(5) S o e = W o r k ( h , K c o )

【7】

(1) T k e i ( C o d e , 6 ) ＝ T k e i ( C o d e , 6 ) + T k e i ( 0 , g )

(2) J u n ( h , g ) ＝ 1

(3) T k e i ( h , g ) ＜ T k e i ( i , g )

(4) J u n ( k , 6 ) ＝ j

(5) H o s i

ウ ケ

イ

カ ク イ

イ ア

④ ⑤

(4) (5)(1)

第54回（2016.1）

第55回（2016.9）

第56回（2017.1）

第57回（2017.9）

第58回（2018.1）
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① ② ③⑤

(4) (5)

(2) (3) (4)

ア イ カ
【2】

① ②② ③ ④ ⑤

キ サ ケ

コ キ ア エ

(5)
【5】

(1) (2) (3) (4)

③ ④
〔用語〕 【1】

① ② ③ ④

(5)

エ オ ア イ ウ ク イ カ エ

(5)
【6】

(1) (2) (3) (4)

⑤

イ シ エ コ ク キ ア ウ ケ

⑤
【3】

① ② ③ ④

カ ウ イ ア

⑤
【2】

① ②

ウ ア
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【6】
エ カ ク イ ア コ オ キ イ

(1) (2) (3) (4) (5)

③ ④
〔用語〕 【1】

① ② ③ ④

ケオ ウ イ ア エ

⑤

シ オ サ キ イ コ ウ キ オ

⑤
【3】

① ② ③ ④

カ イ ア ウ
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ア イ
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〔用語〕 【1】
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コエ ア イ ウ ア

⑤

サ ア シ キ
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【7】

(1) N s y u ( P u b a n , S o e ) ＝ N s y u ( P u b a n , S o e ) + N i n

(2) T r i t u ( j + 1 )

(3) g ＝ 1 T o 1 5

(4) P k e i ( 0 ) + P k e i ( g )

(5) N s y u ( I d x , S o e )

【7】

(1) T k e i ( T u b a n , 0 ) ＝ T k e i ( T u b a n , 0 ) + R y o k i n

(2) T k e i ( m , j ) ＜ T k e i ( n , j )

(3) G k e i ( 0 , j )

(4) J u n ( r , T k b )

(5) s ＝ 1 T o 1 0

【7】

(1) U k e i ( M b a n , S o e ) ＝ U k e i ( M b a n , S o e ) + K i n

(2) ( U k e i ( 0 , g ) + U k e i ( 0 , g + 1 0 ) ) ／ J k e i ( g )

(3) i － 1 T o 2 0

(4) U k e i ( W o r k ( m , i ) , i ) ＞ U k e i ( W o r k ( M a x , i ) , i )

(5) U k e i ( 0 , 0 ) ＝ 0 A n d

【7】

(1) H s y u ( S y o b a n , 0 ) = H s y u ( S y o b a n , 0 ) + 1

(2) J u n ( k ) = 1

(3) ＜ S p e c ( n , K b a n ) ＊ J s y u ( K b a n )

(4) J u n ( n ) = j

(5) M m e i ( M b a n ( n ) )

(5)

ア カ エ エ ウ オ ア ク ウ カ ケ イ オ エ ク

(2) (3) (4) (5)
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① ② ③

第62回（2020.1）

〔用語〕 【1】
① ② ③ ④ ⑤

【2】
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イ カ オ エ ウ エ イ ク ケ オ キ エ ウ ア コ

(2) (3) (4) (5)
【6】

(1) (2) (3) (4)
〔流れ図〕 【4】

(1) (2) (3) (4) (5)
【5】

(1)

④ ⑤

ウ サ コ カ キ ク コ エ ケ ア ア ウ ア イ イ

① ② ③ ④ ⑤
【3】

① ② ③

第61回（2019.9）
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① ② ③
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〔用語〕 【1】
① ② ③ ④ ⑤

【2】

② ③
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